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( Introductory Macroeconomics )

( Honours Core )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer any ten from the following questions :
1x10=10

o] 2PCARA R I w=biR e fa

(a) Who was the first economist to have
coined the term ‘macroeconomics’?

SHER WS’ RN @ LGSR
Aere e 2

(b) What is meant by depreciation cost?

TOd 396 e 6 q@ e

22A/1097 ( Turn Over )




(2)

(c) Distinguish between intermediate goods
and final goods.
T TR W P RAR Aewe N A
901

(d) Give one example of transfer payment.
=R AR b1 Tread |

(e) Define gross domestic product.
T T BeeTER K@ |

() What is velocity of circulation of money?
@ oo feerer f 2

(99 What is money supply?
TUR @ & 2

(h) How does credit creation affect money
supply?
@ BE WA @R ¢S (@ A8
¢TI ?

() What is liquidity preference?
e o 2

() Define ‘open market operations’ as a
tool of monetary policy.
a1 R wifden Bowet o o affewwrs el
foat | :
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(3)

(k) Distinguish  between demand-pull
inflation and cost-push inflation.

s sefie TErRRe W TEEe TrPfeT
ere N1 Fefq 401

() Which country is facing ‘hyperinflation’
recently?

Areefee TS @RI (01 TS @S’
TR R ?

(m) Mention Say’s law of market.
5’3 3@ R Teas 7901

(n) State one essential condition of
Keynesian income determination.

@ 9 PR TR 56 9ol TEY
0

(0) In which case is LM curve horizontal?

& CFaq® LM (30 3T 2 ?

2. Answer any five from the following

questions : 2x5=10

oo 2PARd R e v Ted -

(a) Distinguish between real GDP and
nominal GDP.

4T P TE T WE NG P T
TeoAmR e #A1de ey 791 1
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(b)

()

(d)

(e)

(9)

(h)

22A/1097

(4)

Mention two types of transactions that
are included in the current account of
balance of payment.

ARCNE SR e oo w@ge @@ 1fiy
GTCTE 291 S F41 |

What do price indices show?

79 e & o 2

Distinguish between net domestic
product and net national product.

W% I S TF WE I SeAMAT TS
Ny el 4 |

Write any two functions of money.

Tur R e w51 i fors |

What is speculative demand for money?

AR TIPS Sfean & 2

Define inflationary gap.

ErRfeT Fr STt it

What is money multiplier formula?

a BT @ 2

( Continued )

(5)

3. Answer any four from the following
questions : 5x4=20

©eq 2R R I wifReR Te finn -

(a) Distinguish  between  balance  of
payment and balance of trade with
example.

TR RS ARCTER el wF J1fIE
SO NS “19F fefa <41 |

(b) Distinguish between current and capital
accounts of balance of payments.

AR SR dfere Rorel Wi JoLA o
TrerS “(1%fe g 41 |

(c) How would you measure gross national
expenditure? State the limitations of
this method.

P B T @I o o IRAr @2
QI RIBIERIO R Wﬁn

(d) Discuss the modern approach to money

supply.
TR @O CFqe S GREACHT ST
Eall

(e) Explain the three motives for demand
for money according to Keynes.

FBE We @R o fofbr wfeam amm
301
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(6)

() What is liquidity trap? Explain its
significance on monetary policy.

SRE T 7 Y7 A0S TR FFF TR 340 |

(99 Explain the causes for the shift of the IS
and LM curves.

IS ¥ LM (331 {O1 FAISRS QR FRPIR
[ 40|

(h) What is fiscal multiplier? What factors
affect fiscal multiplier?

FEEFRT QP [F2 IHERT BT LORIS
391 TomiepTR 16 19 2

Answer any four from the following

questions : 10x4=40

e 2HAed R @ oif{te e fud -

.

(a) Explain the various basic issues studied
in macroeconomics.

s e S 91 ¢ Rwrz e
9 |

(b) Discuss the process of national income
accounting in an open economy.

& LIS IBW WY SR ARFICET ST
01

( Continued )

(c)

(@)

(e)

(7)

Explain the process of circular flow of
income. In what ways do international
transactions affect this flow within a
closed economy? 7+3=10

TRE THN oRIRY AfFWCHT W A FH
TAOT PG AMH-2MI G2 AR
MR ASRITS 3 2

Critically explain the cash transaction
approach to the quantity theory of

- money.

TR AR Tgd  Tm R og
FHICABAAFSI I F4 |

Compare and contrast between cash
transaction and cash balance approach
to the quantity theory of money. Which
one is superior? Give reasons. 7+3=10

TR {1 ©gI FvS GT® M (@FH-0F AF
5 S YRR oA T A oL ALy 900
TR @I e ? I o

Explain the various tools of monetary
policy. Which one is appropriate to the
developing countries? Give reasons. 8+2=10

o ey Rfew wfRapmz o 3311 @
e TEEae (P I Sy 2 IR
woefial |
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(8)

(g) Define inflation. Explain social costs of
inflation. 3+t7=10

b i s M - B 5 B i
TS T 1 |

(h) Evaluate the Keynesian model of income
determination.

2 W e SfEeR o 591 |

() Compare the classical and Keynesian
models of income determination and
point out the fundamental differences
between the two.

e e @ o R SR T
T T EE CAGE TE (e AP
Sigferai® fir |

() Derive IS and LM curves. Explain their
properties. 6+4=10

IS |IF LM (331 701 S1299 F91 | 3299 Pz
71 4]

* * %

22A—6000/1097 3 (Sem—-2/CBCS) ECO HC 1




